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ISQ Base Quantity S| Base Unit ak armmia J;BE.“.\D 20TuMm

Length meter (m)

Allar asrar ma-ll'te'hn‘msar
Mass kilogram (kg) tengjast pessum, t.a.
Time second (s)

[t Fﬁr".r vOKArurmmal
Electrical current ampere (A) Pascal Qtjr.“- o QJ‘P‘“QS ﬂﬂﬁ
Thermodynamic temperature | kelvin (K) ohm Q\\-jr‘“' rafvianam

Volt Qtjrir ra?gpenﬂu.....
Amount of substance mole (mol)
Luminous intensity candela (cd)

Table 1.1 ISQ Base Quantities and Their SI Units
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Base Quantity Symbol for Dimension En, einfsldum okkur [i€ia
QA3RINS:
Length L
Mass M Me3 heppueﬂr'n skslun
_ \}a?na er ha'a3+ a3 notast
Time T . ‘ o
AzeINs viz 3 Srunnwo\o\\r:
Current |
. L™ T
Thermodynamic temperature ©
Amount of substance N de&ﬂreh‘ﬂﬁj h‘}éiPér

okkur vid ay finna vilur
\ re’nkn'\nﬂum

Luminous intensity J

Table 1.3 Base Quantities and Their Dimensions
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Hraai ¢ veloch‘tj) hefur Ienﬂd (speed, ferd) oq stefny, tdknum sem vigue:
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Sama S'tlo\ir ur a’raase’rninﬁu, hrozun, ratsviz, segulsviz, kratt.

Massi hleasla, péttieiki vinng, afdl 0g orka eru skalarstarair mes enga stefnu
Vigrar eru | Sdél@u sér 6hasic hnitakecfum, en tengum viz pau seinna
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(@) Aisparallel 0 B em— - - —

(b) A is antiparallel to B st

& - A -A
(c) Ais antiparallel 10 —A  Sw—— — — —a—
BS
. - A B /
(d)Aisequal i0 B  em—f — — @u— {ﬁ

s - B
(e) A is orthogonal to B EI:—a—l-

Figure 2.5 Various relations between two vectors E and ﬁ (a) i * ﬁ because A # B. (b) R % l-i because they are not parallel and

A# B.(c) E #+ —i because they have different directions (even though ‘il = ‘ - :l;‘ = A).(d) i = ﬁ because they are parallel and have

identical magnitudes A= B. (e) E # ]_EE because they have different directions (are not parallel); here, their directions differ by 90°

—meaning, they are orthogonal.
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Figure 2.10 The parallelogram rule for the addition of two vectors. Make the parallel translation of each vector to a point where their
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ACrae 3 bewtons, ra&‘aeﬂul&“raeai Maxwells og straumtraesi hata mikiu
einkaldari fc‘ramsefn'\nﬁu en ellda Me3d vigrumu.
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Scalar Product (Dot Product)
The scalar product E . ﬁ of two vectors E and B is a number defined by the equation

A-B=ABcos @, 2.27

where g is the angle between the vectors (shown in Figure 2.27). The scalar product is also called the dot
product because of the dot notation that indicates it.
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(@)
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Figure 2.27 The scalar product of two vectors. (a) The angle between the two vectors. (b) The orthogonal projection A | | of vector K

-+ v -+
onto the direction of vector B. (c) The orthogonal projection B| | of vector B onto the direction of vector A.
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Vector Product (Cross Product)

v — +
The vector product of two vectors A and B is denoted by A X ﬁ and is often referred to as a cross

e —
product. The vector product is a vector that has its direction perpendicular to both vectors A and B. In

- - - =
other words, vector A X B is perpendicular to the plane that contains vectors A and B, as shown in Figure
2.29. The magnitude of the vector product is defined as

- -
‘A X B‘ — ABsin o, 2.35

- —
where angle ¢, between the two vectors, is measured from vector A (first vector in the product) to vector B
(second vector in the product), as indicated in Figure 2.29, and is between 0° and 180°.
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Krossteldi fveqqid vigra ‘o9r til prizgja vigucrinn horaréttan 1 hina Jc"tjrr't @

Hoitake ki, kartisk hnit

i x =4k,
J x K = +i,
kK xi=+j.

\H\c}ur taknazur mea hnitum eaa
einﬂarviﬂrum hoitakerkis

A= AL + A7/j\
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